[ Efficiency vs vertpos |
~ 0.05

9.045

4
20.04

(8]
$.035

[
£0.03
0.025
0.02
0.015
0.04
0.005
10

Ratio
P
=

1072 10 1 10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Efficiend —— pomstep3_TT_CKF-tok

~ 0.021

9.018F -+ to o[ SRR B IR SO
[4) u : : : ; :
RS SERRERON 11| SPTSNSR8 R
a r . " : i :
D.014f -+t S (TS
o o : ] . d .
8.012F - HIH-- - S {1 (AR
() C : " : ; :
0.00F------5---{Halft - SIS | (RSN
0.008F------+-- H{|& 45 3B -4
0.006F -+ -+ tHHE A+
0004:_ """ :" I '§1t ----- i—---- - :.. .
P AL
S Bwﬁft*# .

T
» 4
¥

30 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.07)
>
80.009
5008
%.007
>
3.006
@
£.005
(]
0.004
0.003fF -+ Beees
0.002 :
0.001

OIIII
1.4F

Ratio

1.2F

20 -15 -10 - 0 5 10
Sim. PV z (cm)



	Contents
	Page 1


